% A
(HAr - TH1)
K H &

I ON 6,976
1 S pEE I 2,576

2 WRETEFAA 4, 400

2 FEIAN 14
2 HEN 14

3 Mka 10
1 il 10

U 7,000




&
EE

(A7 TM)

K I & #
1 S R o A 5, 900
1 TR 5, 900
2 NMEE 100
1 AMEE 100
3 Tli# 1, 000
1 Tl 1,000
Ak 7,000




moOAN R TR E B E

o
A (B4 1)
K GUESS A ig K g
A PEIA 6, 976 7, 880 A904
AU 14 110 N96
itk 4 10 10 0
N 7,000 8, 000 A1, 000




(B47 . TH)
AAEE T HAADO IR AN ER
s/ AR T AR B4R R T SR Feg HEE AR
— % AR
[E] R =2 4 & Z DAt

1| TR EEEE 5, 900 6, 000 A100 5, 900
2 INEE 100 1, 000 A900 100
3 T 1, 000 1, 000 0 1, 000
AR 7, 000 8, 000 A1, 000 7, 000




2. A

(&) 1 MPERA (TE) 1 MpEEAIA (B4 - T-F)
) I i N
1 AREPERAIA 2,576 2, 580 N4 1 I 2, 576 T B fHIUA 2,576
it 2,576 2, 580 A4
G&) 1 MPEIRA (FE) 2 MPEFEHAAN
1 AREHFETHIA 4, 400 5, 300 900 1 EHISEHAIRA 4, 400 | L HIFEEAA 4,400
it 4, 400 5, 300 900
G 2 A (E) 2 HeA
1 HEA 14 110 A96 1 HEA 14| HEN 14
B 14 110 A96
GR) 3 i (TH) 1 s
1 Mllax 10 10 0 1 flull 4> 10 [ RiTAR FE bl 10
B 10 10 0




3.

B0 1 T T | T SARAL
ARAEFE DA i
A FHERTR ~
b5 Z DA o
TRER 2 fkt 600 ke 72 1,070
3 B TY% 290 2 fak 600
4 HE 180 3 WA TN 290
11 125 4 S 180
12 it 200| FHiHE i RS A A 300
13 Zekt 175 11 FL 100
12 BBt 200
0 200
11 F#t 25
13 Z3EEL 175
T 11 ERE 192 7H 1 i A5 600
12 ity 300 12 BB 300
13 ZFEEH 800 13 Zieht 300
15 THEFHAL ,038| =AY » 730
11 TR 192
13 ZFERH 500
15 THasad . 038
G 2 it
PR 23 HOREFIT K 100[ I AGFIF- 100
OISR 23 fERAF T K OEI5 £ 100
Gk) 3 Tl
1 Pt 99 Ty 1,000| Tty 1, 000
99 TiE#e 1, 000

it




5. # B ] +
— i
(1) #& F5 (EfAr TH)
T B % i 5. 2
o7 - xXHE|lE& B | W OB
7 (A) @ B | mETH z & "
£ 600 290 890 180 1, 070
iFfE 1,918 919 2,837 569 3, 406
Loy 0 A 1,318 A 629 A 1,947 A 389 A 2,336
(EAr TH)
P ® & oK ) fh B | iR
F Y4 F Y4 F Y4 T oY F oY T oY
129 94 7 60
412 291 24 192
8B F Y4
A 283 A 197 A 17 A 132
) 5 HE Yk | RO £ JE |EHRE R
now Fou | o | Fou | F oy |wmETy




fektds K OB A F 24 O I O A A

X4y | s 4E B O FE BB N R B i &
(M) (M)
woRk | A 1,318 N ) #55-UE DRI
feg’g“&g“*; 18 SR R TR 3044 1
2o 9
g Hcﬁja\ 92
Ttk E 0 BN DL
BUCLERE 5
W B % Z D 5
ARAEJE 1 A A A
= O M o B4R 1 A A A
B w4 | D 14 I R N R
B Bk IR S
WRE 3 0 AEFEHRRE S (FIA) A
FENC X B R A A
Rk 3 1AEERERAAE S (RiA) A
WEFH| A 629 g 5
B oW
< o fio A 644

- )




(3) R LUWREF Y odRi
7B 1 AT iaE
X o — WA T B BO¥ R
SRR H R (M) 165,700 —
SERRS1ARLH 1B BAE NIASF RN | (M) 171,800 —
SE ¥ i (77%) 2 1% 6 A —
SRR A AR (M) 158,300 —
PRk 304E1 A 1 H BifE YRG5 H A4 (F9) 160,300 —
oY) A (7%) 206 H —
A4 4] 1T el
D il E
X 4y — A T LI (M) WO¥ TR (M)
7 - —HRATER (M) | R AR (M)
[ IS 148,600 — 148,600 -
K = E 180,700 — 180,700 -
vk Bl Bk B
% N — &% T B B EE
7 i BE% (N) |#Ektt (%) W BE% (N) |#Ekt (%)
8 ik
7 fk
6
. 5 & 5 ¥k
TR LH — —
3 & 3 &
2 % 2k
1 #% 100.0 1 %
B 100.0 B
8 ik
7 #k
6
. 5 k& 5 ¥k
TRR304E1 A 1H — . ;&
3 & 3 &
2 % 2 #%
1 % 100.0 1 %
=} 100.0 2
GER 1] D R UE ) 72 Bk s N 2 )
E 1 #k 2 3k 4 #% 5 6 7 %k 8tk
oowm | EOF | E OF | E OE|EEME S F . o
L I I o B o e A e I I I




~ H s
- R 7 A
- o [ 5 E
B B %% (A) (N) 1 1
%N AAEICRDOES  (B) (N) 1 1
45k (N 1 1
S el (N
3 e p Gl 21 0N,
B el (N
21 0N,
o= (B) /  (A) (%) 100.0 100.0
B B % A (N) 1 1
i} AARICRDOES (B) (N) 1 1
45k (N 1 1
A el (N
FHABUINER 21 0N,
B el (N
21 ON,
o= (B) /  (A) (%) 100.0 100.0
A WIERFY - B FY
Xk WA 3 A T H%%ﬁ?ﬂiy)f%ﬁgﬁ "
EA (B %% H&av%@@za?k fisi
6 A (H%7) 12H (A%)) X BIE R E
K AR BE 2.225 2.225 4.45 H
il AE 2.125 2.275 4.40 H
ES[2%iiil)is 2.225 2.225 4.45 H
7 EFIRIE X OISR 4R 2 18 T
% sy 204E e D | 255 Ehfe DF | S5AEENfE DA e 1 B %kg)ﬂﬁg i
(H47) (H47) (H47) (H47) TINEHE
A IR
FHeRE [24.586875(33.27075 47.709 | 47.709 | B Il H &
(2% ~20% %)
A AT B
?@% 24.586875(33.27075| 47.709 | 47.709 | % @ 4 @
(2% ~45% /%)




* T oMo F A

X 5 H o # £ & o B [ LA 7
® & F Y |

£ & F Y [7l

W Ty [7l




	050④_01_歳入第1表
	050⑤_02_歳出第1表
	050⑥_05_歳入総括表
	050⑦_06_歳出総括表
	050⑧_07_歳入事項別明細書
	050⑨_08_歳出事項別明細書
	050⑩_96_給与費明細書（総合開発）

